l'llllllllIIIIIlllll\\lllllllllllll\ 7 NS - 628

12. Which of these two provide proof of excellence of Indian metallurgy before
industrial revolution ?

a) Damascus swords of West Asia and iron pillar near the Qutub Minar
b) India gate and Gateway of India

c) Tippu Sultan’s sword and palace

d) None of the above

25 39N 03T DRIND FNOOT 59,0803 BRTEe) OILRT 039 303 QTR
I INTINS ?

a) HO DI, BRPRA® TS 02 BB QAT O3 FWET B0

b) oGO3 riets’ & rReeTEse e’ RO

C) &%) RORTT 38 308 9TRON

d) 30O CIRRTR B,

13. WHich one of these depletes the ozone layer and causes global warming ?

a) Nitrogen dioxide b) CFCs

c) Ammonia d) Allthe above

23R SRPOVT 030 WRYND LR’ 292003300630 TIVE PN SHTRIST DOFN
FO0LTNES ? _

a) TORIBS & T, =° b) 3Rcdee FRLTRE TV

C) 3BRECIR d) S0edT FQTP

14. What is the maximum speed possible for any wave in the solar system ?
a) Every wave can have its own speed b) Speed of light '
c) Speed of electron d) None of the above
RROIF BOBOTE, CIRTI 2WOT LISN mqﬂzsmr{:d 93,08 Seresem), ?
a) D o0 IISe YT VNS BROTWBI
b) IS BeNTRY,
C) 25T ReNTRY,
d) S0edT CIRTJTR VY,
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Washing soaps contain

a) Potassium salts of fatty acids

b) Sodium and calcium salts of fatty acids

c) Potassium and sodium salts of fatty acids

d) Sodium salts of fatty acids

SRFOILD YVTOIRENTT TN B3 FINT C3033 OBNYR BRODES 9
%Jaai')zjd BTN FPEDXOI0 D

b) ZpwR w=Hne 59,9000 08) RPEROHC VD

C) ZAWF SRNS AReRC0 BB FpLPA0I0 ©Ted

d) imbzp SN BREROIIO O3

Primitive observers defined natural phenomenon as an activity of

a) Super natural forces - b) Humans
¢) Machines d) None of the above
SEPETICD BT TFRTF TS 27083 3 H3,03003 DEFFR B3 T 3odoned DOT
9,509, TIT.

a) ©CRs BY b) &RT=3
c) chogried d) S0 AR e,
Science and Technology in Ancient India is a work by
a) Joseph Needham b) D.P.Chattopadhyaya
c) Sushil Kumar Mukherjee d) John Bernard
BEDYANRADIo TSN ) D 08 B0 P B3 PIBS SedTTH
a) BREAT® V=T’ b) &. . BERENTR,OD
C) ROBES BORBRT® 330D \ d) 290° WwRFE'F
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18. DNA Finger Printing is used in Forensic test is based on

a) Matching of the DNA sequences from specimen’s crime site and suspects

b) Matching of the DNA sequences from specimens at crime site and suspect's
parents

c) Matching of the DNA sequences from specimens at crime site and suspect's
children

d) Allthe above
D0 R ( (Forensic) 905@9?@@03353@ DNA 23093, 03030 35000 =0 a’m’»d
wen e300
a) LW N@Jde') B8 RnToND Fo8y J088 e DNA IRBROT B0
b) e Neﬁd DRG0 BB 30883 BT ¢9Te9 aaomodod DNA e9R358300 BR0T0eds
c) Fem ,oeics’ BRTO B3 B8 =3¢ DNA IRBROB BROTEST

d) aﬁae@a’ @@Mqija
19. The radiant energy of the sun is due to
a) Nuclear fission b) Nuclear fusion
c) Radioactive decay d) All of the above
RRODFS DT SEOIN 03395 BOOTRNG ?
a) 2E0NTTI b) HTRTEW RNV
c) &¥Tea TOL 5 d) B0edT QP
20. Origin of Species is a work of
a) Mathew Arnold b) Charles Darwin
c) Albert Einstein d) Sigmund Freud
22053 230977 CVITEVT SeXBTO
a) BRBRERFT, b) W § WoNF D
C) SOEF VAT : d) anow® FWeI
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21. New way of thinking, sparked by a philosophy known as

a) Humanism b) Socialism
c) Behaviorism d) Politics
VIR SURCWINPN T OQOINT B8 25569

a) PIRSIWT b) ARwPB
C) JSFRT d) ocowseodd

22. The latest satellite launched by India is

a) Astrosat ~ b) Rohini

c) GSAT 18 d) INSAT 3DR
23er GRTSEY GUEICHNT YUERE IR 7

,a) BAR T b) Bedss

c) mEr -18 d) a9, -3DR

23. A social science is the systematic study of

a) The natural world - b) Models of reality
c) Human behavior and society d) Experimentation
RBIAOPY S AAToD) qﬁaj B3 FPND CIR)TT _ﬁ)dauc% 53, 030TNG ?
a) a"gjﬁﬁré 03 b) Fwcd &Rwd
C) BNTD SFNVE 308 Aes9% d) =cdrensd

24. Who laid down the first accurate laws of motion for masses ?
a) Nicholas Copernicus b) Galileo
c) Oldham ; d) Einstein
B0 WO TR 0N WBOTD DOIRIONT), VDTN T30 DATBTO
a) JBRCVT® BRI TA® b) ROO3we
C) Lowr® : d) 02§
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25. Photovoltaic energy is the conversion of sunlight into

a) Chemical energy b) Biogas

c) Electricity d) Geothermal energy
ci%éad%:@%a’% BEOI0 :i‘@dé_%podaedg{ 3N TOBEFRIBT.

a) TOAROIONT T b) 2% &R0

C) T Ty d) Pz 8

26. Protected land for conservation of wild life, plant and animal resources and
traditional life of tribals living in that area is known as

a) Sanctuary b) National Park

c) Biosphere reserve d) All of the above

TR, s W03 T, ROTB) TN ADOTTIVOWE wtéa’é,s% N0 LIS ﬁod%ﬁmﬁ
‘amd@ﬁféﬁﬁﬁi DF0T B33 ? :

a) eyodnoy b) Dogy,ecm emmaﬁdd
C) BeRNRET | d) SB0eIT VTP
27. What was the first disease to be treated with a specific chemical ?
a) Tuberculosis b) Syphilis
c) Bacterial meningitis d) Whooping cough
QOFR, TORORIT BROOOT 238BRRTTES, TR, BRT© a0V 03RT)TI0 ?
a) 3O deen b) 9%
c) BT &I d) Tool 339
28. Radioisotope used in production of nuclear weapons in India is
a) Uranium b) Plutonium
c¢) Thorium : d) Radium
WPTWER, B030030%E) SUTOSRENRIE TR a’aﬂam@o&o(isotope) &SN,
a) 03030300 b) =3 Eeed03d0
C) BPeOC30 : d) Jezodoe
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29. Which of the following is an example of genetic variation ?

30.

31.

a) Two children have different eye colors

b) One person is older than another

c) One person has a scar, but his friend does not

d) Todd eats meat, but his brother Rod is a vegetarian

B FENIZNT R0 53053088 BRI LVTIDBTTBCIRNG 9
a) 23ed e3ed ms WEY BRODT TR daé%ﬁo

b) auwzjmoé doda—ad a:i::i:au

c) ), daaa:d MOacj% (R Re&Z m@@g&ﬁo@m

d) &Rt SRomEd T3 ks Caoflopley R, T0

The moons of Jupiter are called

4) Satellites b) Simpleton

c) Galilean d) None of the above

ROTBE GomrmrR DR0m Fehend 9

a) YUINBEND b) RoTere3nT

c) RO d) 603 cARFRo e,

: and: i are two major discoveries of 15" century which led

to expansion of white colonies outside Europe.
a) Spinning machine and telescope b) Gunpowder and steam engine

¢) Gunpowder and Mariner's compass d) Mariner's compass and telescope

:béa QTR WPOIT ST Vet ca“@m@&ravs
15 Je a’sma)’cﬁ TR0 T8 H0ED dn’@;o

a) SR obog $8) ARSEr: b) =03 BB =8 eon azoos
¢) 0T D& B8y T Bes d) S BB B RS
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32. Non-conventional sources of energy are
a) Nuclear, Biomass, Wind, Thermal
b) Geothermal, Ocean, Solar and Nuclear
c) Biomass, Solar, Wind and Tidal
d) None of the above
R0 TIVOWT BOGRT BULNED
a) WORRERD, TS, T3, T
) BT, NS, A7 FF BORPED
C) BeTTRY, FOT, FWICIN WY AN SOOI

b

d) 20003 OIRRTER LY

33. GreenHouse gases such as carbon dioxide and methane cause
a) Increase in planet’s surface temperature by blocking sunlight
b) Decrease surface temperature by absorbing sunlight
c) Increase planet surface temperature by trapping moisture
d) Increase planet surface temperature by trapping the heat in the atmosphere
BT SRONRT QOO BT, & BB ST
a) RROIES FTLNTI), BB LPRTPDIII), a’z;;ogd
b) BRCIHFS T2VE, &ed LIRROCH ST TR BRRGS
C) 03 LBOL, 23RR003 e, FOTII) BUWROTS
d) HBVTEIT TODT BELRTI AW F0ee) TOTRD, BUFZS
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34.

35.

Internet can be defined as

a) A software program installed on a computer
b) An electronic device for printing documents
c) A world-wide collection of computer networks

d) A power backup source

BB LDUTI) s FINT03 9,309, 3 BRBWER

a) NEFFCNOFTE) BRWAT 2.0 T Fe0*

b) TSN SoaRes svmednensds DTS TS

c) 3,700,038 Neagoso08 iy e Rons

d; DT BeDTHOD G

The fear of GM crops for human consumers are due to

a) Lack of information on long term effects on biodiversity
b) Religious practices are against modifying a species

c) Foreign genes in food may cause cancer

d) All of the above

BOUR0TO FYNY LS Mo, BEc BETw 53080

a) e FOGT BoeeS AP DePFHOB TOBIRT W RASNLQOTRYT
b) ToR0FT 52300, fad)r{%ﬁ VRO3RENT ey

C) 38T NFOTON RROAS eorsd TR0 BVOLVBRBS P

d) eS8 a0p |
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36. Scientific studies of nature is necessary in society for
a) Simple curiosity and improve people’s lives
b) Economic development and enlightenment
c) Increasing control over our planet and its environment
d) All the above
ABHBREE), TT B0 32 H;@ﬁ 3, 030INT Sk QBRI
a) BBRVOO0T TN WIT BWERI ROGOOAC
b) =®¢3 wzpafg% TOMP ] G;;raemﬁzﬁ
c) PR B8 8us TBIRTEAT T30S VAR0S,£0 A PRI
d)} 00T VTP

37. Which of the following is a weather sensing satellite ?

a) Astrosat b) Radarsat

c) Meteosat d) INSAT 3DR
23 SSNSDNSE), OB BTN A0SR maﬁ_@a 9

a) SRR b) Jweo AR
C) QVLCIRER,E" d) as°m,e3DR

38. Father of Indian Nuclear Programme is

a) J.C. Bose b) HomiJ. Bhabha
c¢) Vikram Sarabhai ; d) C.V.Raman
PTBE BRI 03RIO0 WIB

a) 2.2, BReA® b) Beee . YoLP
C) ST ATIYIOIT® : d) 2.9. DO
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39. First Nuclear Power Plant set up in India is
a) Narora Atomic Power Station established in 1979 at Maharashtra
b) Tarapur Atomic Power Station established in 1969 at Maharashtra
c) Tarapur Atomic Power Station established in 1969 at Uttar Pradesh

d) Kakrapur Atomic Power Station established in 1969 at Gujarat

ORI SR 3308 oI DRI L30T YT 9620 Navicy m@ddﬁaig{ m@m’@ao@m ?
a) 1979 09 moox 39, AT SERET 2 AR

b) 1969 09, SHTHFTO, P oS 35 AT

C) 1969 B9, »v8d BIeBTY, AT TDTOFT 9800 m@dd

d) 1969 09, XTI IS M8 5%

e D,T)T” R0 ;“%dd

40.

-

Which of the following technological advances are affecting human cogpnition,
emotions and ethics ?

a) Bus, aeroplane, microwave ovens
b) Boilers, metro trains, television
c) Internet, cell phones, digital communication devices

d) Submarines, radars, missiles

BINS oI 20083 SRR DD I BRIV 06, LBS Y F 258N Boees
TOTORO eI ?

a) WA, V[/RT, BBREEe* we (oven)

b) RoRTe, Sotig Jeo, Zrousrs

C) ©OBT 2O, AS® FPES® BOETT RIS MBIND
d) ReROIMFOTT, ST &08) 83963
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PART-B
TN - W
' Note : Answer all questions. Each question carries 2 marks. (15%2 = 30)
- BRBE: AT TINT), V302, B3 TIN 2 203N&D.

41. Which of the following definition for ‘Science’ has been coined by Carl Sagan ?
a) Science is a way of thinking much more than it is a body of knowledge
b) Is an infellectual activity carried out by humans
c) Science is a knowledge covering general truths of the operation of general laws
d) All of science is uncertain and subject to revision
DOF AT BF0 NRID 9, 309,
a) TR 2 53 B0TITRUT SERENET WRNF TN
b) ERTFT FER 2,000 LR WS '
C) ARRT, 7S, WO OB QOSORONT @caéaa’dﬁéo&a’@gﬁraod <) ,q§3
d) <RI QOTP WROFR, BOR BORTET LN
42. Difference between hybrid and transgenic or GMO plants
a) Hybrids live longer and transgenics live shorter
b) Hybrids arise due to cross pollination, while transgenics are produced by transfer
of specific genes from different species
c) Hybrids are generated from grafting but transgenics result from germination
d) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled
0T =08 FICROBO BENYNTD da:) P
a) o3, é@ﬁeﬁa DETE TOT, éoe:aoéar{eﬁo DOFOO WRIBIB

b) wIBeried e Toons 030020033 mé@cﬁmdcﬁ BooPOZ0 BENT JOF T, 900Secdd
ﬁi‘aﬁ@ﬁ& w3ed mécﬁ) AR RRNPOT @@d@d W@@N@Dﬁﬁ

c) Qo3 e@?r{@cﬁ) %dmﬁa@d@oﬁ 30303, &mo@@ﬁ%ﬁ& BRFFOWOT BOIRORSINITES
d) @o@é@ﬁ@ﬁ@ 9053083 Beaned FAMTT A0I0L,BAT), éo@@oé@ﬁ%*@ QT WHNY,
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43. The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades is

a) Environmentchange b) Global warming

c) Health change d) None .
DU TIINFS Breed & #08) BNRSE Boex0 BOTRITEE) FOBRIODTIE DOFEIW
a) BOVN WEOR b) 2NET STINRIT NOF

g] Bﬁ@fi‘%d WECRBH d) am@Ee e

44. Match the Philosopher/Scientist with their contribution :

Scientist Contribution
A. Aristotle i. Three laws of motion
}B. Newton ii. Laws of inheritance
C. Gregor Mendel iii. Gravitational force
D. Galileo iv. Scientific methods
a) A=iii,bB=i,C=iv, D =ii bl A=l B=iv C=i D=
c) A=iv,B =i, C =ii D =iii d) A=ii, B=i, C =iv, D =iii
B2 9/ sy INTR) 30 FREINRR BRoOVTITS FOCINT BrRodE:
SUEDIY R
A. omue i. 280803 Bt V030
B. 3pua° i, ©9RTedeC3d ACBoNd
C. Ano® Home* : lii. NMoToED B3 B8
D. nddadne iv. %m@@ée‘b@a’ﬁ%
a) A=iii,B=i,C=iv, D=ii b =iy B=iv; C='i; D=
c) A=iv,B=i, C=ii, D =iii d)-A=ii, B =i, C = iv, D =ii
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45. For a fixed mass of gas at constant temperature, if we decrease volume, the

pressure will

a) also decrease b) increase

c) remains constant d) none of these

%dwacﬁ BOTRRT YVTOTTY, %WOTI) %d RO TR TS Roaea(volume) 33 36
BRRTT, WIBD) Sjgecia

a) SRBISPNIZT b) émwﬁagcﬁ

c) %dmﬁdogd d) BT BRPTP B,

46. How stationary waves are formed ?
a) Atransverse wave superposing a longitudinal wave
b) Two waves of the same speed superposing
c) El'wo waves of same frequency travelling in the same direction
d

S

Two waves of same frequency travelling in the opposite direction
£2e31e0 Berk VoL 7

2,00 FZF LS UTTFCD 29630320333 Foee3 LR TO0T
2,030 BRE HTE SR 2oRT TOLSROT LBRTOT

2,036 &3S 030 DT BB tooTie DETY, BORY 00T

20T S333030 HOES BN DT, 0839 BORRTO

2@
L

k2]

a
b
c
d

e e

[

47. Nano smart materials that alter shape under the influence of an electric field is
a) Thermoresponsive materials b) Polychromic materials
c) Electrochromic materials d) Piezoelectric materials
DT 3BT BOTROROT TG, CEnlenvas) LT OWRIT TIRe 23858>(nano smart)
DTN DOTI FBOINRTO.
a) VR T33P VRFF T b) WRARIEDF TR
C) QEER BT WA \ d) FHeeass s SN
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48.

49.

50.

Second stage of the industrial revolution

a) Consumable goods production b) Capital goods production
c) Standardization d) Productivity

30 59,0808 DTBRE B0 oim@cﬁ% ROLIORAT) ?

a) M®HT AT NTS b) 2omems Bosond vuears
C) T@Redesden d) evscsss

Which of the following is true for “Sound” ?

a) Sound cannot travel through a vacuum
b) Sound cannot travel through gases
¢) Sound cannot travel through liquids
d) Sound cannot travel through solids

‘B S 81 FINT R ROBROTZTS 9

a) AP (vacuum) S0eB 39333 b) @Rend Doees B8O
C) TN DR BOTHTD d) FING Bowws BORHI
Which statement best describes the structure of an atom ?

a) Atiny nucleus of prdtons and neutrons with electrons orbiting around it
b) A positive core surrounded by electrons packed tightly around it

c) A particle comprised of a mixture of protons, electrons and neutrons

d) A large core of protons and electrons surrounded by neutrons
20RT maﬂaﬁg{ B3 PN 03N Bee3 QWORIZTS 9

a) TpNT TR BRIRI V0T 8RB, e T TI900 STBrAW) T 2,000 Bep Feody
b) &5 37190 BOBIFOT womd Fgs deo

C) FRENT’, IR DD BB AT D IS Q0B £aT3 2o Fed

d) SRR YR RANTOT o et =03 DR I 2,00 B Feory
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51. Heliocentric model of Nicolas Copernicus explains the motions of planets
a) Motion of astronomical epicycles
b) Motion of heavenly bodies around the earth
c) Motion of planets around the sun
d) Motion of satellites around the planets
DEREUT’ FRETVFIRTT ANT, FeoDT BFTENY WO BRTOCINIIT, NENY
PO B FNT0Z T FRUIBITD.
a) DR BPWIBE 080 WU
bj HR0003 238 SEBEaNE BuS
c) RRYTROZ REne Bo
d) REne 208 LBNBNS WS

52. Ancient Indian knowledge of theories on human body, symptoms of disease and

remedies in ayurveda are made available in which Sanskrit text ?

a) Arthashastra b) Charaka Samhita

c) Chandasshastra d) Aryabhatiya

RN B0e0T T, Brenns ROLITENT B RIS 231} 0300e e T 2R D 3,
TR TS O RORS TOBRE, PEITR 7

a) eﬁzﬁrmh; b) 308 ﬁoaoé‘

C) ¢onA, / d) esgegeseosd
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53. Informed public with science and technology background are necessary in a
Democracy.

a) To convey to state necessity and feasibility of intended science business

right ones
¢) Tobring transparency in technology based business, policy-making on vital issues
d) All of the above
BIRTLZ,BE 028 D BB 025 ST STOFCI0Y, FOTFRIFR CEOV A A pleja)

a) Ty F eucdeds e F-Iogen s - $e0os edg; C3RERRY O AMTIoD wj\
PR

b) S0, Fadeesnvos Zogem D 5T BT BNY 2} 3B voc AOCERTTR 303
b Bnwden

C) 3o S - &0 2, T T/ 3%, DRODNSE), RoF T Qe3NPS) sT3TF S STen

d) S0ed3 azge

54. Importance of information technology in education are

a) Faster access to information from across the globe

b) On-line libraries and dictionaries, make grasping and learning easier

c) IT based communication systems such as emails, SMS help interaction for Clarity
d) Allthe above

835909, B 032 D B 0N

a) TToIT TR BRSNPOT 865y, Wedd 03

b) s5°-&° Rowormd @8 Wl Yo RN 5eg3), 138 w02 3OFOD it

C) Bn&e-3oZzn D OGROB RORBS MGNTmemails, SMS HUOT RS

d) 0eIT e3P

SPACE FOR ROUGH WORK
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55. Match the scientists and their discoveries :

Scientist
A. Alfred Nobel
B. Edward Jenner
C. Newton

D. Thomas Alva Edison

a) A=ii,B=i,C=iv, D =ii
b) A=iv, B=iii,C=i,D =i
c) A =iii, B=iv,C =i, D =ii

-
F

d) A=ii,B=i,C=iv, D =i

Discovery
i. Vaccination
ii. Electric bulb
iii. Gravitational force

iv. Dynamite

$9NE QP RO 0 BRmTNET BRORAD:

NIV N
=gl
A. SSE SRcWSF
)

B. a@w‘rﬁﬁc‘

< =

& @'%wa‘

D. ToRR° &5, QRRN®
a) A =iii, B=i,C=iv, D =i
b) A
c) A =iii, B=iv,C=i, D =ii
d) A=ii,B=i,C=iv,D=iii

=iv, B =iii, C=i,D=ii

es&aazgd

. OF
i. soz:’%a‘ el
i. rbdaa%éa’rea B8

. cédaadgjw

NS - 628
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PART —-A
RNTIN - D

Note : Answer all questions. Each question carries 1 mark. (1x40 = 40)

* RRUWE 1 9O, d)é’tﬁfﬁa’% SUS0R. B, géﬁ 1 e203.

1. The lens used to construct a Microscope

a) Convex b) Concave

c) Biconvex d) Biconcave

R BBFHE S03R0FT evmodeenxis SORRT O30 ?

a) eI TORPT b) JO, SORRT

C) Qe BoRRT d) @—Wmmd

2. Most likely event which can cause a rise in the average temperature of earth’s
atmosphere in future is

a) Forest fires

b) CO, from fossil fuels

¢) Dust clouds from volcanoes

d) Depletion of earth’s ozone layer

POR T, 0008 BeRRRTBY, FTIRO STWRNIT DO OO DT RIOOT
ROLIRIR S &3‘2&%‘?

a) oo,

b) TF03009F VOFINPOTI LVOEIDNIE BOMODEY.

C) 2R,TRBNDNPOT BRTBRBYES PRV BRBNSD

d) 23000 LWERER BEVE APTY
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3. Plants with green and tender stems are called
a) Herbs
b) Shrubs
c) Trees
d) All of the above
efa® @Qddg’% BROOTOB ﬁﬁéﬁ@ﬁa’%
a) N@
b) Sweds
.¢) &0
d) 0O VTP

0T $803205300.

4. I—iigh Yielding Variety Seeds (HYV) were introduced to Indian farmers as a
result of

a) White Revolution b) Green Revolution

c) Red Revolution d) Orange Revolution
&ig& QRO BRTRD wmﬁeﬁ;il PPTST FBort ORI WO ?
a) 325,08 b) 20,08

C) $oRT03 d) se¥E08

5. Who is known as the father of Indian Monsoon Model ?

a) Madhavan Nair b) Vikram Sarabhai

c) Vasant Gowrikar d) C.N.R.Rao

EPTEE o FRTE FREONY w38 20w cIRGR IIHLNG?
a) SNFRI® FOO° b) DB FTILIOI®
C) RROS D" : d) 2. Q°.SC°. OOR°
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6. Who was the father of White Revolution ? "'\
a) Dr. Norman Borlaung b) Dr. M.S. Swaminathan \
c) Dr. Varghese Kurien d) K.N.Bahal
3P T3E &¢3 59,0803 TOFIT 0IRTO ?
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7. Scientific management of animal livestock, breeding and diseases control is

a) Animal husbandry b) Animal based farming
c) Bothaandb d) None
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8. Antimicrobial drugs that are derived from the natural processes of some
microorganisms and that can inhibit or destroy other microorganisms are

specifically known as what ?

a) Chemotherapeutic drugs b) Prophylactic drugs

c) Semisynthetic drugs d) Antibiotics
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9. Detergents are better than soaps in removal of greasy dirt because

10.

115

_d) They have longer fatty acids than soaps

b) They have surfactants which make them interact with greasy dirt
c) They contain less sodium and potassium

d) They are water repellents
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a) ALRVN0S T 3RS SN BRODS

b) &oed | eﬁédrﬁr{qﬁei@to@cd% BRI Z2RY3NTES ISFRLO WROBLVTTWNTS
C) 3R BRCROI0 [IBY FREDACI0 TRV

d) 2% BOVTRNS

The process of softening of hard water by using nanoparticles is known as

a) Nanopurification b) Nanoremediation

¢) Nanofilteration d) All of the above
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Blue revolution being envisaged by the Govt. of India is aimed at

a) Increasing industrial production of blue dyes
b) Augmenting pulse production --
c) Enhancing aquaculture products both in brakish and fresh water

d) Increasing fish production in fresh water
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